ALL KERALA BHAVAN’S SCHOLARSHIP EXAMINATION 2018-19
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| 1. The sum was difficult for the class to solve.
a. too b. two c.toe d. to
2. The full form of shouldn't is
a. shall not b. should not c. should not it d. should have
3. Can you tell me what the train to Mumbai is?
i a. fire b. fare c. fair d. faire
“-4. The word which means the same as to walk fast is
g a. run b. hurry c. hop d. speed
5. My toys broken.
a. was b. were c. is d. has
6. Yourdress is the dress among all your classmates.
a. more beautiful b. most beautiful c¢. beautiful d. less beautiful
7. Vegetarians eat meat.
a. ever b. often C. never d. always
8. 10 thousands — 100 hundreds =
a. 10 ‘ b. 100 c.0 d .1000
9. What is the number when divided by 7 leave a remainder 3?
o a. 28 b. 24 c. 36 d. 44
10 . The cost of 1kg sugar is Rs. 35.50. What will be the cost of 4 kg sugar?
a.Rs. 120 b. Rs. 120. 50 c. Rs. 142 d. Rs. 130.50
11. Value of 36 x 100 x 0= .
a. 360 b.3600 c.0 d. 36000
12. Thetime 12:00 noon is read in 24-hour clock as
a. 12: 00 am b.12 :00 pm c. 12: 00 hours d. 12: 00
13. Which among the following is not a factor of 81
a.0 b. 1 c.9 d.3
14. Find the remainder obtained , when dividend is 80126 and the divisor is 1
a. 80126 b. 1 c.0 d. 80125
15. Form the smallest five digit number using the digits 2,0,9,1,0 .
a. 10209 b.10029 c. 00129 d. 01029
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a. Birds b. Mammals c. Reptiles d.Insects
in fish help them to preathé i:‘:’rv:;?;; \ Wings
a. Gills b. Lungs C- .\
The hardest part of teeth is called __— 4. guh = "
a. Dentine b. pulp c. enamel
es ___
d. paper
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_ The main food that plants of th
a. Fruits and nuts
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d to record the body t
b. Thermometer

b. Snail
woman Astronaut?

a. Sunitha Williams
c. Valentina Tereshkova

c. wind

are

ss family gives US [ —
drice d. vegetables

C. wheat an
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e
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b. Kalpana Chawla
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Which city is called as “_and of five rivers’?

a. Jaipur b. Kochi c. Punjab d. Delhi

Which is the largest continent?

a. Asia b. Europe c. Africa d. Antartica
is the capital city of Rajasthan.

a. Jodhpur b. Udaipur c. Jaipur d. Madgaon

is a place where a road and a railway track meet.

a. Railway crossing  b. Tunnel
Kanha Tiger Reserve is situated at

a. Kerala

b. Goa

c. Bridge d. Platform

c. Madhya Pradesh  d. Delhi
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32. Amp
er Fort i i
N Jaipur was built by which emperor ?

a. Akbar b
. Shaj .
33. UN has declared wh .hajaha” c.Raja Mansingh  d. Humayun
a. Gandhiji Ose birthday as “World Students Day”
. Nehry b. A.P.J Abdul Kalam
34. La d. Subhash Chandra Bose
a l:/'lzagbgarden is located in which place ?
- Mumbai : '
35 Which . b. Chandigarh c.Bengaluru d. Gujarat
: o K Place in India is known as tea garden?
. Ker, )
ala b. Karnataka c. Assam d. West Benagal

36 . Who is the current finance minister of India?

a. A . .
run Jaitley b. Chidambaram c. Jaswant d. Piyush Goyal

37. Konkani is spoken in state.
a. Tamil Nadu b. Karnataka c. Goa d. Gujarat
38 . In the following which is the first Amusement Park in India?
a. Corbett Park b. Fantasy Park c. Appu Ghar d. Essel World
39. In thg story of “Mahabharatha”, who was lying in the bed of arrows ?
a. Bhishma b. Karna c. Bhima d. Arjuna
40. India’s first nuclear powered submarine ?
a. Brahmos b. INS Chakra c. INS Vikramadithya d. INS arihant
41. Which sea lies to the north west of Russia covered with snow most of the year?
a. Red sea b. Yellow sea c. White sea d. Black sea
42. The classical dance form of Odisha is known as
a. Kathak b. Sattriya c. Manipuri d. Odissi
43. Which instrument is used to see things above water when inside a submarine?
a. periscope b. radar c. radiometer d. telemeter
44. If you rearrange the letter ‘BARBIT’ you would have the name of a/an------------—-
a. state b. ocean c. country d. animal
45. What comes next
LMNO MNOL NOLM -------====--
a. OLMN b. NLOM c. MNLO d. LNOM
46. PEACHIisto HCAEP as 4625: is to o | 51462
a. 25641 b. 1526 : :
3
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In the following question arrange the given words in a meaningful sequence

iii. no moss iv. a rolling

i. stone ii. gathers
a.iliii/ii/liv b.iv/i/ii/iii c.iiiliiliv/i d.ii/iii/iliv
Mary's father has 5 daughters. They are Nana, Nine, Nini and Nor_mo.
a.Nini b. Nono c. Mary d. Miya
HKUJ:FISH: :UVCD:

a. STAR b .STAB c.STAL d.SILK
Find the odd one.

a. BCD b. KMN c. QRF d. GHI

TIE BREAKER QUESTION

The numeral for “ five lakh two thousand seven hundred ten”is __
a. 520710 b. 502071 c. 502710 d. 502017
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